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Section-A
Q.No | Question Marks | COs
1. | Define Nominal and Ordinal scale of measurement. 5 Co1
2. | Discuss the difference between primary and secondary data along with its example. 5 Co1
3 Discuss the difference between population and sample. 5 Co1
4 | Accepting the false null hypothesis is known as............... error. 5 CO2
All causes non sampling errors except
(a) Faulty tools of measurement
5 (b) Inadequate sample 5 COo3
(c) Non response
(d) Defect in data collection
6 |Fordata2, 2,4,4,4,4,6,6,6,6,6,6whatwill be the mean, median and mode. 5 CO4
Section-B
7 | What is research report. Discuss the layout of research report. 10 Co1
Define any four of the following
(a) Measure of Dispersion
(b) Hypothesis
8 (c) Correlation Ccoz
(d) Type-I error 2.5*4=10
(e) Non- probability Sampling
(f) Research Design
The temperature of two cities A and B in a winter season are given below.
9 Temperature of city A (in degree Celsius) B E] 20 22 24 26 10 CO2
Temperature of city B (in degree Celsius) 8| 14 15 17 18

Find which city is more consistent in temperature changes?




10

A panel of Judges P and Q graded seven dramatic performances by independently
awarding marks as follows:

Performance 1 2 3 4 5 6 7
Marks by P 46 42 44 40 43 41 45
Marks by Q 40 38 36 35 39 37 41
The eighth performance which Judge Q could not attend, was awarded 37 marks by judge
P. If Judge Q had also been present, how many marks would be expected to have been
awarded by him to eighth performance?

10

CO3

11

A company manufacturing automobile tyres finds that tyre-life is normally distributed
with a mean of 40,000 km and standard deviation of 3000 km. It is believed that a change
in the production process will result in a better product and the company has developed a
new tyre. A sample of 64 new tyres has been selected. The company has found that the
mean life of these new tyres is 41200 km. Can it be concluded that the new tyre is
significantly better than the old one?

At 5%level of significance the tabulated value of Z= +1.64.

10

CO3

Section-C

12

Case Study
Yaseer Ahmed retired as a chief from a 5-star hotel in Delhi and returned to his

hometown Ramveerpur (population 5 Lakh) in Uttar Pradesh (U.P.). However, he found it
difficult to settle back into the community. He realized that he needed a vocation to keep
him occupied. He was still clue less about what to do, when his friend Samar Dewan
visited him. Yaseer explains his dilemma and asked for advice.

Samar pondered over the problem, and suggested that considering Yaseer’s expertise in
exotic cuisine, he should think about setting up a restaurant serving non-vegetarian food.
The enterprise would be perfect, as Ramveerpur hardly had any restaurant serving good
non- vegetarian cuisine. Yaseer liked the idea very much . But before putting the idea into
practice, he felt that it was important to have a rough estimate of the non-vegetarian
population who went out for meals in a restaurant at least once in a typical week.

Samar recalled a hotel industry report, according to which Ramveerpur’s population
comprise 15% Muslims, 20% Sikhs, 10% Jain, and 55% Hindu. It was known that
generally, Muslim’s were non-vegetarian, whereas 95% Sikhs were non-vegetarian.
Further, the result of the report of hotel industry had indicated that more than 2 % of the
population of the town ate out at least once a week.

The data definitely indicated a sound and profitable opportunity. However, Yaseer felt
that before setting up a restaurant serving non-vegetarian food, a quick survey should be
conducted. He wanted to carry out a survey of the households to understand their
preference for various cuisines. All the households were assigned a serial number. He
decided to survey 1000 households. His plan was to conduct every 100th household in a
particular locality and ask for their eating preferences.

(a) What type of Sampling design is being used in this case, whether it could lead to
any sampling frame error.

(b) Suggest an alternative sampling design. Suggest the possible sample size that
should be taken out from each community and why?
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